Primitivni funkce 1

8. cviceni
Matematickd analyza 2, NMMA102, Ondrej Bouchala

Najdéte primitivni funkci k zadangm funkcim, a uréete, na jakém (maximdlnim) inter-
valu/intervalech je definovdna.
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Najdéte primitivni funkce F k nésledujicim funkcim f na maximdlni mozné podmno-
7Ziné redlnych c¢isel a tuto mnozinu urcete.
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INTEGRATION BY PARTS:
GNEN A PROBLETM OF THE FORM:
_[F(x)_q(x)dx =7
CHOOSE VARIABLES W AND v SUCH THAT:
u=fto

dv = g@dx
NOW THE ORIGINAL EXPRESSION BECOMES:
f udv=7
WHICH DEFINITELY LOOKS ERSIER.
ANYWAY T GOTTA RUN.
BUT GOOD LUCK!
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